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What is the big deal about Web Services (WS)?
Let various applications in different languages and computers act as a single application.
Generally WS use Port 80 and HTTP (Although this is not mandatory), so could go through firewalls with no problem.
IBM, Microsoft and other big company support the vendor independent standard. Web services can be publish in the internet and provide functionality that, potentially, can be used by the whole world.  It provides distributed APIs that is language independent. 
Companies that were part of the specification were IBM, MS, Bea, although Google is one of the heavier adopters of web services.
Why ERP?
For one instance of web services there is no need for ERP. But since WS could be instantiated in many machines, ERP provides a transparent way to access a specific WS instance without knowing its specific URL. 

What is the contribution of this paper?
The proposition of different aspects to compare derived from the canonical architecture presented. It is a good survey of the five implementations, so is useful to compare some standard features.

What is a container?
It is an application where other sub-applications (components) are execute. These sub-applications cannot exist by themselves and the container provides them with services like security, transactions management, etc. Some examples of containers are Tomcat, Jboss, and Websphere.
Can a client destroy expired resources?
GT4-Java provides this method. WSRF specification provides the destruction at the container level. This is a very important feature.
Why bother with so many implementations for WS?

Delay of network connection is one of the biggest impediments for grid computing. Then why use this WS implementation in different languages that are not as efficient as C if the major used will be for computing calculations. It is expected that as network speed increases, the gap for computational calculations in C and other languages will be reduced, making feasible to program this type of applications using Java, .Net, Perl or Python. 
Some comments:
Why allow session caching for .Net since the other implementations are not using it. A real application will demand a lot from this cache. IIS implements the session caching, but this is a container implementation.
